| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

Q= [~
£ . =
(=N} . 2
N .
> . o N
[ToRe= Tttt N T
-3 : 3
oS M H ©
— © 5 . o =
= e v —
[te} I H
H .
3 .
o = S o
5 .
IE :
2 . o
o E ERTETEY a1
= [ : |
| e H
[te} s 4
i e <
o F . 1
N z :
3 .
5 | R
) 8 ) 1
5 o
syoex aesydnp z oney
0 _ o
N o =
£ £
QS <
> N
o X QLo
S 3
o Q ©
— © o 5
= —
0
o o
el
! =}
o
‘ﬂ. I
o
bl o
1 INd
2 )
|
Lo o
= i 5
- =3 o
SN )
Q= IS
£ 3
E QL A
N
> o N
E [Tpges =]
2 3
3 oS M <]
= O |n o 5
s |8 =1
E [t} g
L
E o S o
E i E|
2 =
=}
E = S 1
It) 8 N N
3 B = Lo
] 3 R (N
E [ 8 - L
| S . .
10 2 LedlQ
IN 4 Lonlls
) P S 1
z

syoel ann

track dxy (cm)

2
track dz (cm)

-10

-20

syoen

05 =50-15-10 -5 0 5 10 15 20 25

N of reco track vs dz

syoen ol

-30



	Contents
	Page 1


